£ SUNFAB
SCM Efficiency curves

SCM 012 Volumetric efficiency

1.00

0.99

0.98

0.97

0.96

0.95

0.94

0.93

0.92

0.91

0.90

~’-

-
-~—

-
-
-

100

150 200 250
Differential pressure (bar)

300 350

400

e 1 000 rpm
= e« 2000 rpm
«= « «3000 rpm

SCM 012 Hydraulic-mechanical efficiency

1.00

0.95

0.90

0.85

0.80

0.75

0.70

0.65

0.60

®®cecesa,

150 200 250
Differential pressure (bar)

300 350

400

e 1000 rpm
= 2000 rpm
e « «3000 rpm

XX XXX} 0 rpm

1012)

1001XX120307



£ SUNFAB
SCM Efficiency curves

SCM 017 Volumetric efficiency

1.00

-—

'n- *| -,
0.99 e e i e

. ~~~~--- -'-o-.-
098 \ -~_----- * oy

---~-
0.97 \\
S —

0.96 ~—

\ e 1000 rpm
0.95 \ o == 2000 rpm
g

0.94 = + «3000 rpm

0.93

0.92

0.91

0.90
0 50 100 150 200 250 300 350 400

Differential pressure (bar)

SCM 017 Hydraulic-mechanical efficiency

1.00
0.95 —_—————t
090 /":‘.—.:’.—’ o wmm o -—
. ” 4 - .
,/'T -
0.85 L
) / )/ e 1000 rpm
V 2 eoe®
0.80 A === 2000 rpm
r’/. ......... = « =3000 rpm
0.75 e
* ..° eeccee Orpm
4' _.".
0.70 e
0.65
0.60 3
0 50 100 150 200 250 300 350 400
Differential pressure (bar)

2(12)

1001XX120307



£ SUNFAB
SCM Efficiency curves

SCM 025 Volumetric efficiency

1.00
0.99 S~ =
0.98 '\;~-""~:.._:_'_‘ =
0.97 \\ ~---"-—-__
0% \\\ —— 1000 rpm
0.95 ‘\. === 2000 rpm
0.94 = « =3000 rpm
0.93
0.92
0.91
0.90

0 50 100 150 200 250 300 350 400

Differential pressure (bar)

SCM 025 Hydraulic-mechanical efficiency

1.00

0.95 —

0.90 === o=

.‘.....o.

’ PN oo
0.85 / g N T TR e 1000 rpm

0.80 A L === 2000 rpm

’ e « «3000 rpm

y
0'75 ..o. XX XXX} 0 rpm

0.70

0.65

0.60
0 50 100 150 200 250 300 350 400

Differential pressure (bar)

3(12)

1001XX120307



£ SUNFAB
SCM Efficiency curves

SCM 034 Volumetric efficiency

1.00
i .
0.99 -———
0.98 ~""‘-—--.._ s - -
0.97 B il S
\\
0.96 —
\\ e 1 000 rpm
0.95 === 2000 rpm
0.94 = + «3000 rpm
0.93
0.92
0.91
0.90
0 50 100 150 200 250 300 350 400
Differential pressure (bar)
SCM 034 Hydraulic-mechanical efficiency
1.00
0.95 ———— =TT e =-ceee———
4"."1—'_°_.--.-.
0.90 e
. / " R -~
l’,./ .,.cO‘.o-.oo-ooo"'""".
0.85 ,, 7 e ‘ e 1000 rpm
0.80 2, === 2000 rpm
/< = + «3000 rpm
0.75 v
..' XXXXX) Orpm
0.70
0.65
0.60
0 50 100 150 200 250 300 350 400

Differential pressure (bar)

4(12)

1001XX120307



L SUNFAB

SCM Efficiency curves

SCM 040 Volumetric efficiency

1.00

0.99

0.98

0.97

0.96

0.95

0.94

0.93

0.92

0.91

0.90

\\ had Y - -
50 100 150 200 250 300 350

Differential pressure (bar)

400

e 1 000 rpm
= e« 2000 rpm
«= « «3000 rpm

SCM 040 Hydraulic-mechanical efficiency

1.00

0.95

0.90

0.85

0.80

0.75

0.70

0.65

0.60

50 100

150 200

250

Differential pressure (bar)

300 350

400

e 1000 rpm
= 2000 rpm
e « «3000 rpm

XX XXX} 0 rpm

502)

1001XX120307



£ SUNFAB
SCM Efficiency curves

SCM 047 Volumetric efficiency

1.00 _
EZZ T TTTTeRR LI
: T —
0.97 \\‘.
0-96 e 1000 rpm
0.95 = e« 2000 rpm
0.94 = « =3000 rpm
0.93
0.92
0.91
0.90
0 50 100 150 200 250 300 350 400
Differential pressure (bar)

SCM 047 Hydraulic-mechanical efficiency

1.00
0.95 / _’_-»--—_ —-7—_
—————— ‘—.‘.-.-—
090 /”" P
Yy
08 ’, , ......‘ ‘."0.'...00......!
. 5 ”’ ". ......... LA 1000 rpm
o
o /T === 2000 rpm
u.-' . - « «3000 rpm
/
075 .' eeccee Orpm
0.70 ‘I
/
0.65
0.60
0 50 100 150 200 250 300 350 400

Differential pressure (bar)

6(12)

1001XX120307



L SUNFAB

SCM Efficiency curves

SCM 056 Volumetric efficiency

1.00

0.99

0.98

0.97

0.96

0.95

0.94

0.93

0.92

0.91

0.90

\\ '----..----.-:.‘-_
0 50 100 150 200 250 300 350 400

Differential pressure (bar)

e 1 000 rpm
= e« 2000 rpm
«= « «3000 rpm

SCM 056 Hydraulic-mechanical efficiency

1.00

0.95

0.90

0.85

0.80

0.75

0.70

0.65

0.60

- -
- . |-

- , e ¢ =

ecselesccccce

100

150 200 250
Differential pressure (bar)

300 350 400

e 1000 rpm
= 2000 rpm
e « «3000 rpm

XX XXX} 0 rpm

7(012)

1001XX120307



£ SUNFAB
SCM Efficiency curves

SCM 064 Volumetric efficiency

1.00

-, -

0.99 S ——— ————m

- - -
---.--- .
- o

0.98 - ———

0.97 T~
0.96 T

0.95

-

e 1 000 rpm

= e« 2000 rpm

0.94 = + «3000 rpm
0.93

0.92

0.91

0.90
0 50 100 150 200 250 300 350 400

Differential pressure (bar)

SCM 064 Hydraulic-mechanical efficiency

1.00

0.95 = - -
/ -~ ."‘.
’ .|

0.90 s PTYYY
” .--.'('...

0.85 LY 4

e 1000 rpm

/ = . =3000rpm
0.75

XX XXX} 0 rpm

0.70

0.65

0.60
0 50 100 150 200 250 300 350 400

Differential pressure (bar)

8(12)

1001XX120307



L SUNFAB

SCM Efficiency curves

SCM 084 Volumetric efficiency

1.00

0.99

0.98

0.97

0.96

0.95

0.94

0.93

0.92

0.91

0.90

100

150 200 250
Differential pressure (bar)

300 350 400

e 1 000 rpm
= e« 2000 rpm
«= « «3000 rpm

SCM 084 Hydraulic-mechanical efficiency

1.00

0.95

0.90

0.85

0.80

0.75

0.70

0.65

0.60

g T -—----_-__g—
/ A_.’O——C' Ll.- .
/ ”'V .:.:---ocooo-c-oo.....,
cerre et
” . .o"?.
R
&
’ .
K4
4 I
/ .
/
/
/
0 50 100 150 200 250 300 350 400

Differential pressure (bar)

e 1000 rpm
= 2000 rpm
e « «3000 rpm

XX XXX} 0 rpm

9(12)

1001XX120307



£ SUNFAB
SCM Efficiency curves

SCM 090 Volumetric efficiency

1.00

0.99 T —w- - == .

0.98

0.97

0.96
e 1 000 rpm

0.95 = e« 2000 rpm

0.94 = + «3000 rpm
0.93

0.92

0.91

0.90
0 50 100 150 200 250 300 350 400

Differential pressure (bar)

SCM 090 Hydraulic-mechanical efficiency

1.00
0.95 "—' ”’— _—----—-:..-n
‘-’—‘ “ :0:.:’.‘..7!.........
0.90 '4?,,4.’...-:---;" -
et 2 .
. Vi P4
0.85 ’7
: ,’ 4 1000 rpm
U4
0.80 g === 2000 rpm
/ = + =3000rpm
0.75
I X R XN 0 rpm
0.70 .
/
0.65
0.60
0 50 100 150 200 250 300 350 400
Differential pressure (bar)

10 (12)

1001XX120307



£ SUNFAB
SCM Efficiency curves

SCM 108 Volumetric efficiency

1.00

0.99 R e S

0.98 — el t

0.97

0.96
e 1 000 rpm

0.95 = e« 2000 rpm

0.94 = + «3000 rpm
0.93

0.92

0.91

0.90
0 50 100 150 200 250 300 350 400

Differential pressure (bar)

SCM 108 Hydraulic-mechanical efficiency

1.00
0.95 L
/‘—’——- _.—._.—
/ "" .= ° -
P epe®eccccjescccccce P R R R R R R X X
0.90 AT
R
-, .
0.85 7 7 e 1000 rpm
/ .
0.80 A === 2000 rpm
,‘ = + =3000 rpm
0.75 * eeccce Orpm
/
0.70
0.65
0.60
0 50 100 150 200 250 300 350 400
Differential pressure (bar)

102)

1001XX120307



£ SUNFAB
SCM Efficiency curves

SCM 130 Volumetric efficiency

1.00 e
0.99 (TS ——— ——-..-.:.'_-_'_:_‘-- -
0.98 R S i
0.97
0-96 e 1000 rpm
0.95 === 2000 rpm
0.94 = + 23000 rpm
0.93
0.92
0.91
0.90

0 50 100 150 200 250 300 350 400

Differential pressure (bar)

SCM 130 Hydraulic-mechanical efficiency

1.00
0.95 /‘r ‘.———_ -_-----:..-:-.--.
"—— lof»-oo.oo:o:o.—oooooooov 00000 eeece
"..‘...oo..:o’o
0.90 R —
/', * ’

0.8 / . ’ e 1000 rpm
0.80 / = e 2000 rpm

/ = + =3000 rpm
07> '. ceccee Orpm
0.70
0.65
0.60

0 50 100 150 200 250 300 350 400
Differential pressure (bar)

12 (12)

1001XX120307



